Trigonometry - 7.1 - Law of Sines & 7.2 - Derivation of Law of Cosines October 14, 2016

Assignments for the Week of Oct. 3
+ Read6.6,7.1

« 45 minutes of Khan Academy

« Textbook assignment due Friday 10/14:

6.5 #25-55 odd Inverse Trig Functions
6.6 #1-21 odd Solving Trig Equations
#61-83 odd
« Upcoming:
« 7.1#1-21 odd; 29,30,33,34,35 Law of Sines
o 7.2#9-19 odd Law of Cosines
#25-290dd; area
#38,43,46,47,48 Law of Cosines
o 7.3#37,41,43 word problems with Law of Sines/Cosines
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The Law of Sines
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7.2 - The Law of Cosines
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The Law of Cosines
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